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A) 231 B) 313 |
C) 256 D) 263
pirection (Q. No. 1 —5) : Study the table and £) s & # T

answer the questions.

Laptop sold by five different stores in different Find the average (approx.) number of

laptop sold by stores K, L and M in May.

months.
| " A) 231 B)s313
=R ?é/ | HEFTR C) 256 D) 263
Store | June July May October E) None of the above

| 240 234 210 |
J | 230 =}3234 242
0280 || 348 | 342 178

o26 148

4. TS 3 IFE T WR J gRT & 7T 92
1 T 13 3N IH 4 =R M g 99 U
A2t 1 fehar gfdera & 7

A) 98.33% B) 66.81%
_ : | C) 78.32% D) 69.18%
1. 99§ W K 30 L g ) e suer si mg # £) I § & S

| 3 M g s T AU o 7 7
IR AT H1 © Number of laptop sold by store J in July and

AL 29 : 375w B) 100 : 149 _
C) o5 - 37 _ D) 21437 October together is what percent of the laptop
@@aﬁ i 4w TS sold by store M in May and June ?
A 33% %
E#E What is the ratio of the laptop sold by C) 3:22; 2 66‘81:
E“EJ’-. store K and L in'June and the laptop sold by A8 oc D) 69.18%

" | and M in May 2 E) None of the above

A) 29 : 37 B) 100 : 149
C):i 26 37 (5% D) 21 37
E) None of the above

2. 2 S H W L gT 3 T 37.5% Sueig gl

ol

. FHREH VR | g o9 T F A, gHME 3
T AU 1 71.42% B | 3RS HEW & R | A
A foreh a1t SAUeiT <hl TET 19 6 |

®, @ 91 # R L g S T -2yl ey A) 84 B
i | C) 86 D) 54
A) 142 B) 175 ' |
C) 125 D) 145 E) SWed H | I3 7
d“ii‘*ﬂ § | g Tal In October total laptop sold by store | is

It 37.5% of laptop sold by store L in June is
defective, then find the non-defective laptop

Sold by store L in June.
A) 142 B) {172

C) 125 D) 145
E) NDne of the above
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(=] %[=]171.42% of total laptop in the shop. Find the
H;.jﬁ.number of unsold laptop in store | in the

" month of October.
A) 84 B) 21
C) 86 D) 54
E) None of the above
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6. 26&?!?? 2024ﬁ%a%mﬁmwafm’m§
gH 8 guwEife figmes Uzﬂ\v-122$rzr':a=ﬁfr;g

r
|
|
|

A) FH B) THIA
C) gehi D) &4
E) SWad & #I$ 7]

On 26 December, 2024, which country

’IE.EE,*“E-] successfully tested the firing of the supersonic :
[=]5%:5 missile UAV-122 from the Bayraktar Akinci

;
drone ? ;
:
A) Iran B) Israel :
C) Turkey D) Russia :
E) None of the above

?
g ToTet 7T oft |
A) @I wshedi
B) WH.TH. ¥
C) 3| o
D) ueq &
E) 3uded # & &I T

De veloprﬁént Planning — the Indian

Experfencé" book was written by
A) Sukhamoy Chakravarty

B) S.N. Sen

C) Amaﬁyla Sen

D) Adam Smith

E) None of the above

B F e R Ll

33

Fa ol P P AR Fiitn

Illlllll IIIIIIIHIIIHIII

B

JF4

:
:
:
:
:
;
;
3
;
§
;
;
;
:
:
:
3
|
:
;
:
|

GET IT ON
Google Play

T T T T PP eppp———

8. Fraferfiad @ 4 firm wreg gfau |

A) =ITES B) F9m
C) drar D) @bt

E) 3 4 & i 7

Find the odd word from the following.
A) Bat B) Pigeon
C) Parrot D) Crow

E) None of the above

9. ‘gehiAitHe fawelt 3% 3fan’ yeas fohmeh gry
YehTi¥Td bt 7% oft 7.
A) i.5ft. faees

B) 3R.Hl. gd
C) w.5ft. THTE

D) wa.wH. &9

E) SWad 4 & &I3 781
The book ‘Economic History of India’ was
published by

A) B. G. Tilak

B) R. C. Dutt
C) M. G. Ranade

D) S. N. Sen
E) None of the above

\
%
5

10. 1 =21 40 fo=e &1 1221% B ?
A) 12.5 fae B) 20.5 fime

C) 25 fime D) 15 fime
E) 3w 4 | I3 T&

1221%, of 1 hour 40 mins is

B) 20.5 mins
D) 15 mins

A) 12.5 mins

C) 25 mins
E) None of the above
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. <9 H U § i @ 9K
e I g & |
A) FIATG
B) SHfRUETdT
C) dlhdd
D) TehIcHsh JUTTcAl

E) 39 H d I3 A2

El*-‘qlﬂ refers to the existence of more than
EIE:I&::.' one level of Government in the country.

L

A) Federalism

B) Secularism

C) Democracy

D) Unitary system

E) None of the above

12. it gy o fA=ferfigd o @ a-41

Which of the following adaptations is
“0mmon in desert plants ?

A) Large flat leaves
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) HIFd UL Tead
_B) 39ded 4 O s a8l
27th September is observed as

A) Teachers’ Day

B) World Tourism Day

C) International Literacy Day
D) United Nations Day

E) None of the above

14. YRA g1 AR o1 he 7a=d (IBCA) 5

& fopam mam o1 7

A) 3 9=, 2023 B) 5 SH, 2023
C) 9 318d, 2023 D) 22 Tg, 2023
E) Suded | ¥ s T&

When was the International Big Cat
Alliance (IBCA) launched by India ?
A) 3 March, 2023 B) 5 June, 2023

C) 9 April, 2023 D) 22 May, 2023
E) None of the above

15. 9Rd 4 1983 fshehe fava =9 B1za o fvg A
Sl BT T 7

A) 3 B) Jwsdi
C) JATEferan D) qiferea™
E) 3wda | @ I3 e

2= India defeated which team in the 1983

Eﬁ%Cricket World Cup final ?
A) England

C) Australia

E) None of the above

B) West Indies
D) Pakistan
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AW (.49 16 - 20) : Fr=feiea s
SIAYE® I AR N9 o Tu e & IW T |

e TR WR TR Wi SrerT- 3terT g A T
qiewl (e 3R e) (et #) 6w S
guitan & |

Direction (Q. No. 16 - 20) : Study the following

information carefully and answer the questions
given below.

The given bar graph shows the quantity of
vegetables (Carrot and Radish ) (in kg) sold in

five different shops.
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B Radish
RGN e
16. F i 39 7u geft i 71 A, C S D H s T

meft 1 3fted A @ S F A ST el 3
TR &1 31U 4 : 57 | FH s/ s 6l
T ST I | -
A) 720 kg B) 810 kg
C) 750 kg D) 780 kg
E) I9ded # @ His 8l

w 'he quantity of Radish sold in F is the average

PFg‘g quantity of Radish sold in A, C and D together

O and the ratio of the Radish to Carrot sold in F
is 4 : 5. Find the quantity of Carrot sold in F.

A) 720 kg B) 810 kg

C) 750 kg D) 780 kg

E) None of the above
JF4 [T
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ﬁ%%mﬂaﬁlnﬁmaﬂt B # &9 7T gedl
£ wEn 3% C 3t D# &4 U MR Fi G F
i 1 3R 2 | AH ==t 72 GlesEl il Hed 7T

71 I | (TR, el AR Fe)

A) 1048 kg B) 1124 kg
C) 1152 kg D) 1096 kg
E) I5dad # | SIS A&

The quantity of Pumpkin sold in A is the

difference between the quantity of Radish
E%Esold in A and B together and the quantity
El%gof Carrot sold in C and D together. Find the

total quantity of vegetables sold in A (Carrot,

Radish and Pumpkin).

A) 1048 kg

C) 1152 kg

E) None of the above

B) 1124 kg
D) 1096 kg

18. Tft oMl § e 3R qedl =l 51 3 F41

AT & 7 _f
A) 608 kg B) 620 kg
C) 612 kg D) 616 kg
E) 3dd | | HIs T8

What is the difference between the quantity

of Carrot and Radish in all the shops

together ?
A) 608 kg B) 620 kg
C) 612 kg D) 616 kg

E) None of the above
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32:352 | F 3 D # <t ¢ wfovml < iy T B 7
A) 7 B) 9
et CRaRE C) 5 D) 6

A) 108 kg B) 116 kg E) 3wdad o & I3 &
C) 112 kg D) 104 kg India shares its land boundaries with how
_ many countries ?

F) 33 A | i A) 7 B) 9
€)=5 D) 6

The ratio of the total quantity of vegetables

E) None of the above
E.I,_.Fﬁ,% sold in B and F is 32 : 35. Find the difference
[a] 8%

.
between the number of vegetables sold in

22. 9 T9ugs & "oy ¥ fa=fafga & 9§ s=-a1

F and D.

HUT T 8 ?
A) 108 kg B) 116 kg A) 38 g o TRt oft we § Y fopan i wepa 2
C) 112 kg D) 104 kg

B) 39 GO o foreft +ft wem & O w1&i fopar =
Hhdl 2

C) 38 hael T=3auT # 991 fopam <11 Thar 2

D) 38 el SAhET § 997 foRam A1 Tepar &

E) 3934 4 | His T8

E) None of the above

20. B 31D ® &9 U R 6 @ E # S= T8
gfesat &t et T 1 febaat gfaea 8 2

A) 87.8% B) 83.9% Eglﬂ Which of the following statement is true
[]¥%5 regarding the Money bill ?
C) 89.5% D) 85.6% . P
A) It can be introduced in either House of
E) 35@5‘“ o | s Tal Parliament

B) It cannot be introduced in either House
of Parliament

C) It can be introduced only in the

The quantity of Carrot sold in B and D

together is what percent of the total quantity

of vegetables sold in E ?

B Al AP A A L L L L P A L W A A A A L A L A L il el AN AL A ol Ll G P A G L L P L T G G A L PP A A L A P AP AT A A Pl AR L L P AP P P Ll e L L Bl L L LA A L G G B R P A L L L LR L A L P P P P P P P P i il P el P R e (YL PN AW W P W I e P

Rajya Sabha
A) 87.8% B) 83.9% D) It can be introduced only in the
C) 89.5% D) 85.6% Lok Sabha

E) None of the above

LR A e .,u.;u-uuuruuu-.l-.ruruuuuuuuuu““ WPAF PPl P el el Ll Fidid sl siaPaiibiPiiiok T T T I T ey e e e v e

E) None of the above
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23. WA H fasm® &1 LPG Hisd

iFsF Rl T T T I

AERELF G F R F PR PR R R P FAF AR FIRIR IR R R R FIRRIFIR R PR i FiR ol FaFal il Fal il i FaFala @
L - r
]
26. TEEA b AR Rretrerd e <Rl

&
fepa
YRR seora 2, forme fmfor feg oRf wmae %

A) 1990 B) 1995 |

C) 1991 D) 1992 SITEhTA H g3 T 7
E) 3T & & 18 T A) 3T
LPG Model of development was introduced in B) &4 LIg

India in :

C) ToigaR

A) 1990 B) 1995 by

C) 1991 D) 1992 D) =l

E) None of the above E) 'ﬂﬁﬂﬁ 4 ¥ His 7ol

EggThe Girnar Rock Inscription of Rudradaman
B Arefers to Sudarshan Lake, constructed

24. 20251 el fhad U GEEhRI <l =M H7TE, T

i Tk e FHer (T % &9 8 i mm) * during the reign of which Mauryan ruler ?
IS G g) ?)Sgik?atha M

A) 135 B) 139 ) BEEhe el b

C) Bindusara
C) 145 D) 140
. _ D) Chandragupta Maurya
E) 39ed ® ¥ I T8l

&4 [&] How many total Padma Awards were
23 announced in 2025, including a duo case

[=] iz (counted as one) ?

)
E) None of the above Y S aj é
Qﬁ_)@L

27. Jfir &1 AT GG % FAM & FiTh o FSAT

A) 135 B) 139 :
i e # %=1 gfta @ 914 &, F e § O 2
E) None of the above Sifer W | 921 7, A ST | BieT # |
_ 34
o5, Yvq FHIel 3R & & TS & o9 & A B
| = o TR | A A B) WIH
A) TSl T C) AT D) SHTcEHT
B) Y& EI—TI'E' F) 3Tad | | IS TaI
C) S S | The age of Amit is same as Sumit because
D) ﬁ“m;r:;x they are twins, Richa is younger than Sumit,
E) 3’:@?‘ Tl Richa is younger than Jyotsana but elder than

The time gap between the question hour-
and the agenda of the day is called

A) First hour

B) Zero hour

C) Half an hour

D) Starred question hour
E) None of the above

op Juqﬂuﬂﬂﬂtl‘ﬂﬂwilﬂ1’“"'““""“‘” lllllllllllllllllllllllllllllllllllllllllllllllllll
iiiiiii

JE4| &7 & ey

Saurabh, Sumit is younger than Jyotsana.
Who is the eldest among them ?

A) Amit B) Saurabh

C) Richa D) Jyotsana

E) None of the above

L] L 1-‘-‘.""'“‘-““““.'.“‘HLIIII Pl i ﬂllﬂu!—'uﬁlll“hlhl e Lt N NN PN
- ‘i'i.l-'l-'l'l-l'l'“"i Ll [ SN W

FeFeFaFifaFiFefafofiFifafaFifilfafi il ol ol aimilofofoFis
AFAFIFiFAFiFiSiNiF iR i F el o F o f i af o i fefodofuFafoi
A AFAF AT AR AR T AT AP AT P P AL LF i F e F i FaF AL aFiFiF i FLF iF il aFaFiFaF i FiFiF afiFiFiF 1 FifalaF i aiFiFiFaFaliFiFiFaFilsFiFiPiF oI af TP diFiF il ar Al PaFaFaFiFiPaPiFall
ANAFAF A AP F AN AR FiFiFiFaFifaFaFoFafodifoFaFif il iy
A A P A A A A A AP AL A P R A RN W P e
d o
L1

iiiiiiiiiiiiiiiiiiiiiiiiiiii




GET IT ON
Google Play

28. 18T 3TIHUM Ud farhre wa (DRDO) )
€ foh o &g eft ¢

A) 1968 B) 1962
C) 1972 4 © D) 1958 P 3it Q gT = SreT-3rer WEH # ford g
E) ST IS TE] W(f%?qﬁ+34ﬁ3ﬁ)ﬁqﬂq%|

[&] 4[] Defence Research and Development
s 8 Organization (DRDO) was established in
R the year
A) 1968 B) 1962

E) None of the above

2

Direction (Q. No. 31 — 35) : Study the table and
answer the questions.

Total pages (Hindi + English) written by P and Q

In four different months given.

29, mﬁﬁraﬁgmmq@qmm :
Month i Q

A) T s
C) Hgel ffeciine R el 234 |
D) dfEem —
E )jqjiaﬁ T HIS T8 Jﬂuf Ilylé 420 280
In hﬂmantBeings, the posture and balance T :
of the body is controlled by | August 220 | 360

A) Pons

B) Cerebrum
C) Medulla oblongata
D) Cerebellum
E)

§
5
:
§
:
F,
3
3
:
3
3
3
3
3
¢
3
g
)
§
3
5
3
;
3
3
;
3
3
:
;
3
3
3
:
:
Y
3
3
3
3
. ;
- 3
7 3
! ;
5
3
3
3
J
)
3
4
3
3
)
|
3
:
3
4
3
3
3
)
:
3
g
3
;
:
g
:
5
:
:
3
3
:
i
:
o
7
:
3
4
3
3
e
3
:
3
;
:
.
3
3
F |
3
:
3

None of the above s

[ShaHT TfasTa 8 7
30. FacTed TS IeH WRA & fohd TsA H fRIG 8 7 | A) 56% B) 78%
; C) 80% D) 70%

A) TSRIA
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32. @ ° P gm0 for@ ¢ gsei w1 wfewd Q 35. néﬁpaﬂtoaﬁam%@mgmg@aﬂt

o1 4 gaH wEH ° frdar atfe 2 7 Jois ® P 3R Q gHi gr1 for@ e et g3t
N STo% B) 33.3% o SHUST: ITUTT R 8 7
C) 48.36% D) 25.96% A) 31 : 23 l
E) SWfed § ¥ 13 78 |
B) 39: 21
How much more percentage of pages
written by P in June as compared to Q in C) 29:35
same month ? ' D) 37:59
.99 B) 33.3% ) g & & HYE T
C) 48.36% D) 25.96% |
E) None of the above What is respective ratio between the total
ﬂpages written by both P and Q in May and
33. Tt wEET ° P grr for@ o aﬂaﬁ T6S FT 8 7 EH- “the total pages written by both P and Q in
A) 243 B) 360 July ?
Q) 256 | D) 300 A) 31:23
E) 39 | 9 I3 8l (. :
What are the average pages written by P in _ -
all the months together ? | C) 29:35
A) 243 B) 360 D) 37 :59
C) 256 D) 300

E) None of the above
E) None of the above

34, o  Q T R T e U 2867 | O T T e et e Y o T T

%ﬂﬁ%lomwfrmﬁaﬁsﬁg@ et
ford g 7 A) e  B) ahwRy
A) 284 B) 200 C) fieieh D) wvE
C) 232 D) 268 ) i 3 3 2 8

E) 39dad § & IS @

India’s fi :
?ﬁ. 128.57% of the total pages written by Q| " ndia’s first overseas Jan Aushadi Kendra

-@_ﬁJuly is in Hindi. How many English pages was installed in

"are written by Q in July ? A) Nepal . +8) Bangladeésh
A) 284 B) 200 G, -
C) 232 D) 268 ) SriLanka ) Mauritius

E) None of the above E) None of the above
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3
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:
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i B) 39: 21
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a
2
E,
:
9
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:
;
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37. 239 tiiefet UTEETTY | o1 wefteh w0 R 7 i 39. SR gel, =i 6

‘ S, 2025 ® a9y
A) i L TS R R, Ry 3w 3 v & o
B) 3 A) Iegferan

. | .
C) 1@ : B) Eﬁﬁﬁg
D) Hig i % C) areT
E) 3% # & i 7 D) Ises fbmrey
What is the symbo] aésbciated with ) :Wéqﬁ H I Tal
Parshvanatha, the 29;'??{;FTil'thankara 2 : Justin Trudeau, who announced his
A) Bull % 'ésignation on 6 January, 2025, serveq as
B) Lion i the Prime Minister of Which country ?
C) COth 5 " : A) Australia
D) Snake i B) New Zealand
E) None of the above’ ; C) Canada
o o D) United Kingdom
s, E) None of t
Eﬁ TR Thiems £ -; (55% Sk % he above
SRemmmy o |0 PrERe 3 & e o e 5 ey
A) T =rETer : ﬁﬂaﬁmﬂtmmmwr@%?
8) Wt ey =1
C) S =mmm 5, | °) ﬁm
D) foen e 1| g ™
E) Iww & & =g GO e ing.
o E) 3w % g -
Under Article 129 of the Indian Constitution % Which ﬁé hos
- , i -
e _ has 586n dedlared ac . ; C of.the following States faces the
Court of Recorg { :

-

- -E;ﬁﬂ: MOst serious i
(=] 'OUS Issue of groundwater
A) Gram Nyayamyég?%

llllll

%
A
= : K
B) Supreme Court % B; Merr:\l:a|
’ : & a
C) High Court - | % o Pufjabaya
D) District Court % ' D) Odisha
E) None of the above: i
:
;

LI & P AT AN AP AP A B TR

E) None of the aboye

L] uulﬂluuuuuuuuuuuuum-=_ FrE =
v _"J‘-'"l. ' ™ .
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41. "I ATE FHIIF TG - 78 w1 | 43 gmaﬁzmgm:rqmwsogﬁ'{m
foreeh grT foham w2 § |
: H4.9.9. 15 g, ql 3! @1.9.9. &1 2.7
A) TsH Ty :
: A) 112 B) 102
B) ife Feireh :
C) 120 D) 84
C) Ufemes :
g E) Swfa | 9 g 78
D) s At
K L : The product of 2 numbers is 1530 and their
E) ST« | | 1 78 : .
: CF is 15, then their LCM is
Ej_. Conditions of Economic Progress” - ThIS Z A '
“:HWwork was done by | o 5) 108
A) Adam Smith i O 10 D) 84
B) Colin Clark : E) None of the above |
:
C) Robinhood
D) Alfred Marshall %
i 44, Biftes T 3 qrtafes s 2
E) None of the above : e i 3 ﬂ@lﬁ | ﬁTm 37
A) = fres R
42. WRG H It e sfufem fra ad wig | B) duew
g3 AT 7 |
: C) v fyess
A) 1976 )
B) 1966 D) g Toes
C) 1996 E) Sa & ¥ 318 73
D) 1986
: E Which
E) s § @ 2 78 i'gu% part of the Tripitaka contains the
4 i =Ritdconventional te
Consumer Protection Act in India was : ——— the Rihe.2
passed in the year A) Vinaya Pitaka
- :
A) 1976 B) Dipa Vamsha
B) 1966 C) Abhidhamma Pitaka
C) 1996 E
D) Sutta Pitaka
D) 1986 - : )
E) None of the above | E) None of the above
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45. T Wt uR i fre 1 g 2 w2 20 fire |

e — TITIr LT ] LR ]

Direction (Q. No. 48 and 49) : Read the Passage

and choose the correct option

10 answer the
A) 840° B) 520° questions that follow :
C) 140° D) 320°
E) 3ww ¥ ¥ &3 78

How much angular distance will be covered

-

-

-l..l-l:

T e

Frrrr e ey e e P PR P EE LSS A Sl il A R R :
d

sl by the minute hand of a correct clock in a

Clbys period of 2 I-'\burs 20 minutes ?

A) 840° B) 520°

; greenhouse gas emissions and lower air pollution
C) 140° D) 32(0)° :

E) None of'the above

46. Choose the correct question tag for the
followipg_l§$§tgment_ 48. Why are countries Investing in EV

The windowst are open, Infrastructure ?

A) aren’t tt'?
B) isn't they ?
C) ismtit?

A) To replace public transport

B) To promote air travel
D) aren't they ?

C) To support EV adoption
E) None ofthe above

D) To reduce taxes on fuel

E) None of the above

49. Which of the following is a type of EV [E]+#[q
3
| said, “The-teacher likes me”.

PR
infrastructure ? [a]
A) | said that the teacher liked me. A) Petrol pumps

B) | said thét the teacher was liking me.
C) | said that the teacher likes me.
D) | said ti‘féii the teacher is liking me.

E) None of the above

MWUMMHUHM

B) Gas pipelines
C) Charging stations
D) Qil rigs

E) None of the above
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meaning (synonym) to the given word.
Admire

A) Blame

B) Stop

C) Curse

D) Praise

E) None of the above

51. TV HISFAN 2025 wrg aik
ST S fora s 2

A) Maldives

B) Egypt
C) Turkey

D) Saudi Arabia
E) None of the above

nnnnnn

B) Teaisiex
C) wiex D) ity
E) Swied d & 18 78

Which instrument is used to measure

potential difference ? L

A) Voltmeter

C) Ammeter D) Ohf_jijmeter

E) None of the above

JF4 QU

§h,
B) Galvanometer

[E¥EWhat comes
Ikl
EIEA

GET IT ON

B ST A &

in place of question mark (?)
in the following number series ?

4,12, 36, 108, 324, 2
A) 520

C) 680

E) None of the above

B) 972
D) 475

E) Sugw & & g

Which of the following forests are adapted
1o saline water ?

A) Thorn
C) Mangrove
E) None of the above

B) Evergreen
D) Deciduous

A) 53 B) 29

C) 47 D) 57

E) 3wdsa o ¥ = 7 |
Which among the following is not a prime
number ?

A) 53 B) 29

C) 47 D) 57

E) None of the above
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/g o B WAaﬁth%ﬁmmﬁﬁqﬁﬁ
ﬁaﬁqwi‘@mww—mmw & ¥ I 37T =Y |
As,gaﬁ{Dmé@rmm% <l T ) | A) 9:8 B) 5:3
m%aﬂﬁwéwmn-mmma—am; C) 2:7 D) 1:4
Siet 99 1 H@ 3R TR 37epm_ GHHT ERT ) 7w | E) Sw% & & % 7

. HE&T % 3 : .
FRE U MATE R o : Find the ratio of the total number of ball point
Direction (Q. No. 56 — 60) : Study the fb"t}wi‘n pens solq by shop A to the tota number
information carefully and answer the questionsg f; fotEntam Pens sold by shops A and B
_ i hig gether, |
The given line graph shows the numper of i A) 9:8 B) 5:3 |
ball point pens sold by four different shopsi.e. A B, C) 2:7 ). 154 |
CandD and also given the number of gel pens sold : E) None of the above I
by four different shops and the number of fountain | |
Pens sold by four different shops. 57 T AR A Y e e s e |
R : ' . &
200 S — | ﬁﬁmﬁmeﬁmm
< Lo : ‘Hﬁzﬁ‘—rﬁrﬁ‘m%aﬂ'ﬂmmﬁl
- 300 i E) 3w & 8 i 7
_____ : Find the difference between the total number
% B10f ball point and fountain pens sold by shop A
| @ and the total number of ball Point pens sold
| : 3 "“by shop D. -
2l =% Tk ALE:
AN il 200 i R— e R, T, W ;
. A SN .. N - 180 2 E) None of the above
10Q . - _ 1"10_0_. 3.. GhT Bﬁma’amﬂh‘tﬂﬁ? ﬁ?ﬁ?“m
) - 1 e wferera 2 <
- A) 50% B) 100%
. = g C) 120% ' D) 80%
0 | : — | E) 3w & @ 13 73
A B C D : The total number of gel pens sold by shops
€ The number of ball point pens sold ; A and B together is what percentage of the
€ =9 U A W U9 i gen o | total number of ball point pens sold by
& The number of gel pens sold "’ shop B ?
B 99 T S R Sen ; A) 50% B) 100%
# The number of fountain pens.sold ’ C) 120% D) 80%
& 9 U RS U9 ) T@= : E) None of the above
— E—— ST P mummwwummmu...........um......m..,m....wm.,_ __________ aririn
JF4 | [ B 14 B
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59. ?IE@H tmé%mmwréz 3 aﬂrm% [y eﬂﬁ o i
%@[meozﬁwﬁ 33.33% & % A) I
%WWCﬁmﬁ%mqﬂ@qhﬁwEﬂg B)

: C) =T 3 s
ﬁ?'%ﬁﬁa%ﬁ@@mwl D) whesw siv Fum
A) 320 B) 450 E) S0 § 3 i
C) 410 D) 290 ,T:)e |ba;kb0ne of the Indian Economy is
) o A d 3 B) Egrl':;:wure
If the total

number of ball point, gel and fountain
Pens sold by shop E is 33 33%

that of shop C and the ratio of th
of fountain pens sold by shop C to shop E

IS7: 5, then find the total number of ball point
and gel pens sold by shop E.

A) 320 B) 450
C) 410 D) 290
E) None of the above

|

"i

'!a

|

C) Trade and Commerce
% D) Transport and Communication
e number E) None of the above

:

|

§.

|

D) TSHI4
E) S9ds o § #1578
PE:E‘I Maach’ is a traditional folk theatre form of
.E’ﬁ-ﬁwhlch State ?

A) Madhya Pradesh
: C) Rajasthan

E) None of the above

60. TPM F 3101 42 e 35wt 3 % 4 40% ¥

B) Maharashtra
D) Gujarat

480 63. "R % Ui 3ice B ¥ w9 & R STl B ?
b B D) 600 A) e T
E) Sw # | ¢ e B) TuTerpe ey
Out of the total number of pens ei;old by shop F, C) et e foreren
| 40% of the pens are fountain péhs If the ratio D) TH.Sh. TS
of the number of fountain pen solcl by shop D E) 30 4 ¥ +1E 78]
Blns

to shop F is 3 : 4, then find the tatal number

Who is known as ‘Grand Old Man of India’ ?
of pens sold by shop F. o A) Dadabhai Naoroji
A) 560 B) 480 B) Gopal Krishna Gokhale
C) 720 D) 600 C) Bal Gangadhar Tilak

)
D) M.G. Ranade
E) None of the above
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E) None of the above
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:
:
:
3
3
4
§
3
]
|
3
3
:
3
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i
:
3
3
}
3
;
3
3
:
3
3
:
3
3
3
3
:
3
:
3
3
3
3
:
B
:
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64. gebd i I ST B IR T & 1 b WiE
2 | ufEr # R 7oy Tew 3 7
A4 L B2
C) 1 D) 3

E) 3w i 4

- Suket has three daughters and each déughter

iy

hes a brother. Hew many male members are
there In the famlly ?

A) 4 B) 2
E) None of the above

The Chhandogya Upanishad clearly refers
to which of the following ashramas ?

A) Only Grihastha and Vanaprastha

B) Only Grihastha and Brahmacharya

C) Only Brahmacharya and Sannyasa

D) Brahmacharya, Grihastha and
65. 2 ufirm ﬁgﬂ ‘éTRT eTigd i Tt ar % & Vanaprastha

:
:
:
:
|
- |
|
:
:
%
;
!
|
:
3
é
|
ﬁgaﬁ%aﬁaﬁﬁwmaﬁ?%wqﬁga' : E) None of the above
|
|
:
%
|
:
:
§
;
!
:
:
:
:
:
|
;

%aﬁaﬂﬁlﬁﬂ‘ﬂr% ?

_____

67. WRda ft5id S (RBI) dehre HHT-9R Geq
T He FH & fore fhe sty veer §
e gam 8 7
A) TR BIRET
B) TiNiee $ifveg
C) TN TR
D) Wieiee S9ag
E) Wi 3 & ¥ 7

%Which International initiative has the Reserve

EﬂgBank of India (RBI) joined to enable instant
cross-border retail payments ?

A) Project Horizon
B) Project Phoenix

A) 053
B) 2 3ﬂ1=[ 1
C) 203m .

iz

Potential dn‘ference between two pelnts ofa i
wire carrying 2 ampere current :s |

0.1 volt. What rs the resistance between
these points ?¢. '

A) 0.5 0hm <7
B) 2ohm %

C) 20 ohm ,;-;In_;,. | C) Project Dart

D) 0.05 ohm D) Project Nexus

E) None of the above | E) None of the above
......................................................................................... 5
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68. Teresd # SR et <)
A) Tegmm

B) &gl

C) wifea

D) &Ml
E) SR 4 ¥ i3 T

The Brahmaputra River is called

in Tibet,
A) Dihang

B) Tsangpo

C) Lohit

D) Lhasa

E) None of the above

69. a&m%ﬁrwq—- ‘azr?r%ﬁlttrf{qu

L ﬂ{l;trnaﬂ%f% a“ramﬂ?r ﬁm?n%

H@Tw% ?
1 ;i
A 2 B) o
1 3
) 5 D) 2

E) SWe 4 ¥ #is e

1 &
¢ T you subtract P from a number and

: 1 1
h?-multiply the result by Y you get-.:;_—a-. The
number is ]

1 { &
— , B 1;.--__
A 4 ) 4
C) 3 )23

E) None of the above

VAR

PO IT T P RY FU AT R A

o.F i LF LF LFAF 8

1 )
PP BB PR AP T AR AT AP AT AP AT AP AT AT B T AR AT AP AT BB A A AP BB BT T BT AT LB LB AP AT I AT A Al A A I TR AT A A AT BB AT AT AP T T AT AT B IR AT A0 A0 A BT AP AT PP AR AF LTI PP LT AP T AT TP P PP AT 0 MRS A s s sl s

Who among the following received the @]+ g]

Arjun Award (Lifetime) in 2024 for
Para-Swimming ?

A) Devendra Jhajharia
B) Sharad Kumar
C) Murlikant Rajaram Petkar

D) Mariyappan Thangavelu
E) None of the above
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71, “sﬁg@*qﬁﬁiqwlwwsgg%m :
A) TF 98 3 3 e @ |

:
B) T It 3 it @ ;
C) U ol =11 4 i 9§ 63 |
:
D) us Wl 4 gudt adt ¥ Eat §
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DRI =mEl | E) Sr 3w
E) 39« 4 o g 7 :
80. Toefl T 1% 0 B Y w Fap gy | 80 TN T G v B, Pl v A 4
7T o7 7 &l 31e T =3 hifvu |
BT T e ah | o o - 5; iy
fer < ot | . RIS
. g : E) Sudsd ® 4 95 g
B) % SgHAgt U@ | oo - :
C) qs’ehﬂﬁa‘g?l@aaﬁﬁﬁﬁmﬁaﬁml |
D) Wﬁm?{flﬁﬁa‘%@ﬁﬁml ; BG.TﬁmTﬁH%Huwchlé’?ﬁaTFm%.?
E) SHwa A g vt - a A) IR Sca B) gTwds
&l ;
: C) TSIH D) Siame
E) S 3
81. IUHR & UFA I =) FEI S| R) R
J : asiya Geet is i :
A) FaE B) a4 e IS a regional song of which
C) s | D) 34 f A) Uttar Pradesh B) Jharkhand
E) SwIw | & % 7 C) Rajasthan D) Chhattisgarh
: E) None of the above
82 ‘E{Eﬂﬂ@a’m%mﬁq%? | e
A) S THTE | 87. BRES ST Y T fewy ) - T
B) wedy =g v A) 3R,
C) EE (5 1100 55 i o B) wrefish
D) et C) widfieet g
: D) ¥y 9
5 : E) ST 8§ &+ &l
PRI 3 Who founded the ,
83. 'SSI' dg¥d I B, mmm 2 : A) CR. Dis he ‘Forward Bloc’ ?
A) eI B) T;f]'q'[ : B) Gandhiji
3 C) Motilal Nehru
C). g4 _ _ D) ag %; D) Subhas Chandra Bose
E)ySEmagse E) None of the above
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#3: FAUL NS IEIT TS (ICAO) I
A) i B) Jhew A) IS 31 R S5 & (Cll)
c) foret D) e B) TR St 3 whed e e
F) srfe A B 315 3T (ASSOCHAM)

| C) Feem 3t e vt oty
@ The International Ci

. ﬂ .
B (ICAO) has its Headquarters e
A) Montrea| B) Brusse‘-a,l;é
C) GEHEVa R

. D) Paris
E) None of the above

lllllll
614

:

|

:

:

:

:

:

.I A - . iy . §
Vil Aviation Organisation !
E

:

:

:

|

3

:

E

Manish Singhal was appointed as the
u B Secretary General of
L : EEE O on
89. VAT AlILT 5 IT<DE 57 % ITTHR TS =iy g-"" 1 January, 2025.
A ¥ w9 3 vg Hmr %’m . % A) Confederation of Indian Industry (CII)
L N N m mm:h . i !3) Associated Chambers of Commerce and
N e SIERIE A : Industry of India (ASSOCHAM)
UM, I UG R YH: - % R T8 | | C) Federation of Indian Chambers of
A) : g 2 Commerce and Industry (FICCI)
: ) National Association of S
. 5 | _ oftware and
) 3TEHT ST 3 Service Companies (NASSCOM)
C) Ty % E) None of the above
‘ a
D) gemHwE _—
| i 91. WRd
. 3w a BIS! SRS 4 iRt e ey oy 7
A 3;@_ 'y » % A) Thamr 1943
) cor mgta::Jh rt:ITdST oftheh Inc:an io?astltuuon B) 3T 1949
erson who holds, or who has held, office -
asp W e 1o 02':9 C) 3T 1943
shall, subject to the other A
provisions of this Constitutic:n be éligible f > S
: | or :
. | E) 37w & & g
re-election to that office.

A) Vice-President

B) Attorney General
C) President

D) Prime Minister
E) None of the above

Quit India Resolution was passed in
A) September 1943

B) August 1942

C) August 1943

D) September 1942
E) None of the above

............... WRLPLASLAALI LA LR S bl s sl wt e g
‘““u“uw"“"““ﬂuuuuuuuuumuuuuuuuuuuuuwwuuuu WA LR PR LR LR PP AR PR AR LR R A AR P S AR AR LU U PR AR WP L AR AR AP AR L P ARAR AT AR AR Al AP LR Al P R Mm
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FLF 25

92. FE1 HI TWUH F1 3 7 | 95. fiefifen § @ F-e T1q Teo TR
A) BT B) umT 3 .
C) zam D) fat | AT GRT ST 1 IYENT &Y Y TS oft 7
E) S5« ¥ @ 1S 7 : A) e
What is the capital of Cuba ? . 5
A) Dhaka B) Prague ; B) e
C) Havana D) Quito %
E) None of the above : C) |
D) ey
93 Wmﬁ%aﬁmmmﬁ@mﬁﬁa E) Swed § & 18 78
Tt 8 it Al frsror % oy WRT
IS USdT B 7 Eﬁ Which of the following metals was not
: Pk
A) TTIHH g STaT 2 ;'E'FH known or used by the people of the
B) 3 91 3qq FiGl g g Harappan Civilization ?
;
C) damMHE a1 Edl & - % A) Copper
D) dmwe gﬂg 8 g B) Iron
E) 3udsq o ' 0 ;
) I Wy ; C) Gold
What h 3
‘ app.ens to the tempmat}gg_e of a 3 D) Bronze
grareaction mixture when a chemical reaction | e
" absorbs heat energy ? ”“ : ) None of the above
A) The temperature rises |
B) Heat energy is produced ' : : ,
- £ {96 1891 warht e fesm (PRD pepmaror
;
C) The temperature remains the same : " ( ) —
D) The temperature falls |- | PRl IR foa e e
E) None of the above x é A) T3 feeety B) Yevame
94. 290 T Q) e el H Y Ry p | O) R D) Wt
A) 16 3R 17 ~ B) 19.3fK 20 ’ E) 3udwa & & s o
C) 17 3R 18 D) 18337k 19

Where was the 1gth

E) 3w | & &g 7

Pravasi Bharatiya
Between which two consecutive integers

Divas (PBD) Convention 2025 held ?

Wl
ﬂjuudu;luuuuwuuuuuﬂl.ruuwiluuﬂqluuutl'uﬂﬂﬂu

g i -
does 290 lie “ A) New Delhi B) Hyderabag
A) 16 and 17 B) 19:and 20 8% At
C) 17 and 18 D) 18and 19 . D) Bhubaneshwar
E) None of the above - E) None of the above




Adda

= [V cogie Py

FaFaFaFaFargRaFa
aFaFargrers Fufa FaRaFa FafaFefalFg®g®Fs
o el
Fal e FeFa
Y TT LE
Il

. mrinas "1 SRS S8 P8540 5 arri i aoep s anrans
7. et 31 3 I, ST I Saprge ‘

99. WP 4 % Fem B Fwmard) sifufpar 3
Wﬁﬁa’ﬁ%ﬁmwm% ?

B) weare ; A) FIE 7R T ) sramife s 2
C) 3TdvaTe D) seshfret % B)ﬁ%wﬂmﬁwﬁaﬁqwﬁa%
E)mﬁaﬁﬁﬂﬁﬁéq‘a ' | g C)qﬁ%ﬂ%mdmw{wm%
E]EE What term desgripes the splitting of a % D) T T8 siffyean S 3T el 2
EIE:5 country into Smaller, often hostile units 2 3 E) S 4 & g
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